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A = U:rap ez ium) + (Tr ap e z ium)

_h(a+b) , h(a+b)_z-__T-
= S#, *, *3(6! 4) ,*,
5x11 . 3x10: --i-c^' * -n-cmz

=27.5cm2 * \Scmz

= 42.5cmz

3p + 4{p,+ zO) 1c+O
3p*4p*280=840
7p=B4A-ZBO
7p _560
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?=BOF
Beans= (80+ 7o) = lgglr*11rn

I-r)x',1'x--'--
100

12, O00 = 800,000 x a r, -j-72 100

30

12,000 = 2,0001t

12,000 2,000n
z, ooo = JIoo

R - 60/o
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x 50, 000,000lrrw

= 5,000,000ttrw
Jlest x 90, 000, 000 - S 0, 00 0, 00 0: ,I.0,000, AAt)frw

SecoSd-cqtgtigCtg.q
.1

= 10[t 
x 40,00u, 1Alfrw

= 1,200,000lrw
s'l'ax :100 * 90, 000, 000l.rry

= 4, 500,000lrrw
! m' p pr-Lat t: eLe.l.p c,9.

= Total salcs - [ot. comrnission + tax)

= 90,000,000 - (5,000,000 + 1,200,000 +

4,500,000)

= 90, 000, 000 -.- 10, 7 U0, rl00
= 79,300, O}0l:rw
c = 600 (CorresponOin] angter) 

* --
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e = '!80o* b {angles on a skaight linel

= 1B0o* 80o
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6 = g = {S[o (opposite angles]

g = fl ; g0o {aliernate angles)

f = 3 : Jfflo (corresporrding angles)

x - axis
Z0 sq - lhr
20sg = 60min
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lsq = VSmin
lsq = 3p1r,

y - axis
10sq = lgkm
Lsq - Lkm

(a). 10 sq on y-axis = 10km
(b). 10 sq on x-axis = (10 x 3)= 30 min

Time = 
,!.0:30am

(c), 5 sq on y.axis = Skm
(d). At 1 1 :00am E 15 sq on y.axis

= 1Skm

(e). /.1 - lotul distatrce 
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iUhole statemenI

- Nulnerutar -i Detotninotor
393102=B*16'=E*T =t
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,.W) -2.(13) = z*to)
2(2x*a)*(6x*2)=s
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-2x-L0=O
'Zx = L0

. x=
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Let that nttm.ber be x
xx4=x-f 6

4x=x*6
4x*x--G

3x=6
3x6
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x=2

Part (a)

11yrs = 369o-(85 t 45 + 90 + SS + 60)0
: JgQo-tggo

= 25o

Pupils =*#r, = 744pupits
part (b)

L44 2
=_= 

+360 s
2

lZyrs = ; )< 90 = 36 pupils
5
'l

13yrs=-x45 =t}pupils5

2'l4yrs =gx85 =34pupits
z15yrs:;x55 =ZZpupils
J

2
767,rs =;x60 =24pupils5
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